
11) f(x)ȱ=ȱ 2ȱ-ȱx;ȱȱȱg(x)ȱ=ȱ 2xȱ-ȱ1

A) allȱrealȱnumbers B) x|ȱ-ȱ1
2
ȱKȱxȱKȱ3

2
C) {xȱ|ȱxȱK 2} D) {x|ȱxȱL 2}

SHORTȱANSWER.ȱȱWriteȱtheȱwordȱorȱphraseȱthatȱbestȱcompletesȱeachȱstatementȱorȱanswersȱtheȱquestion.

Solveȱtheȱproblem.
12) Ifȱf(x)ȱ=ȱx2ȱandȱg(x)ȱ=ȱ-1ȱ+ȱ5x,ȱfindȱ(fȱHg)(x)ȱandȱfindȱtheȱdomainȱofȱ(fȱHȱg)(x).

6.2 One-to-OneȱFunctions;ȱInverseȱFunctions

1 DetermineȱWhetherȱaȱFunctionȱIsȱOne-to-One

MULTIPLEȱCHOICE.ȱȱChooseȱtheȱoneȱalternativeȱthatȱbestȱcompletesȱtheȱstatementȱorȱanswersȱtheȱquestion.

Indicateȱwhetherȱtheȱfunctionȱisȱone-to-one.
1) {(-5,ȱ15),ȱ(19,ȱ-19),ȱ(-8,ȱ-18)}

A) Yes B) No

2) {(-17,ȱ-13),ȱ(12,ȱ-13),ȱ(-20,ȱ-7)}
A) Yes B) No

3) {(-2,ȱ4),ȱ(-1,ȱ4),ȱ(0,ȱ-4),ȱ(1,ȱ-9)}
A) Yes B) No

4) {(6,ȱ-7),ȱ(9,ȱ-6),ȱ(7,ȱ-5),ȱ(5,ȱ-4)}
A) Yes B) No

5) {(-2,ȱ-2),ȱ(2,ȱ2),ȱ(-7,ȱ-4),ȱ(7,ȱ4)}
A) Yes B) No

Useȱtheȱhorizontalȱlineȱtestȱtoȱdetermineȱwhetherȱtheȱfunctionȱisȱone -to-one.
6)

x

y

x

y

A) Yes B) No
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Findȱtheȱinverse.ȱDetermineȱwhetherȱtheȱinverseȱrepresentsȱaȱfunction.
4) {(6,ȱ-11),ȱ(10,ȱ-10),ȱ(8,ȱ-9),ȱ(6,ȱ-8)}

A) {(-10,ȱ-11),ȱ(-11,ȱ8),ȱ(6,ȱ10),ȱ(-10,ȱ-9)};ȱnotȱaȱfunction
B) {(-11,ȱ6),ȱ(-10,ȱ10),ȱ(-9,ȱ8),ȱ(-8,ȱ6)};ȱnotȱaȱfunction
C) {(-10,ȱ-11),ȱ(-8,ȱ8),ȱ(6,ȱ8),ȱ(-10,ȱ-9)};ȱaȱfunction
D) {(-11,ȱ6),ȱ(-10,ȱ10),ȱ(-9,ȱ8),ȱ(-8,ȱ6)};ȱaȱfunction

3 ObtainȱtheȱGraphȱofȱtheȱInverseȱFunctionȱfromȱtheȱGraphȱofȱtheȱFunction

MULTIPLEȱCHOICE.ȱȱChooseȱtheȱoneȱalternativeȱthatȱbestȱcompletesȱtheȱstatementȱorȱanswersȱtheȱquestion.

Theȱgraphȱofȱaȱone-to-oneȱfunctionȱfȱisȱgiven.ȱDrawȱtheȱgraphȱofȱtheȱinverseȱfunctionȱ f-1ȱasȱaȱdashedȱlineȱorȱcurve.
1) f(x)ȱ=ȱ2x

x-10 -5 5 10

y
10

5

-5

-10

x-10 -5 5 10

y
10

5

-5

-10

A)

x-10 -5 5 10

y
10

5

-5

-10

x-10 -5 5 10

y
10

5

-5

-10

B)

x-10 -5 5 10

y
10

5

-5

-10

x-10 -5 5 10

y
10

5

-5

-10
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2) f(x)ȱ=ȱ xȱ+ȱ2

x-10 -5 5 10

y
10

5

-5

-10

x-10 -5 5 10

y
10

5

-5

-10

A)

x-10 -5 5 10

y
10

5

-5

-10

x-10 -5 5 10

y
10

5

-5

-10

B)

x-10 -5 5 10

y
10

5

-5

-10

x-10 -5 5 10

y
10

5

-5

-10

3) f(x)ȱ=ȱx3ȱ+ȱ5

x-10 -5 5 10

y
10

5

-5

-10

x-10 -5 5 10

y
10

5

-5

-10

A)

x-10 -5 5 10

y
10

5

-5

-10

x-10 -5 5 10

y
10

5

-5

-10

B)

x-10 -5 5 10

y
10

5

-5

-10

x-10 -5 5 10

y
10

5

-5

-10
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Name	_________________________________________________________		 	 	 	 	 5.2	Lesson	Quiz	
	
Indicate	whether	the	function	is	one-to-one.	
	
1.		 	 	 	 	
	
	
	
	
	
	
	
Find	the	inverse.		Determine	whether	the	inverse	represents	a	function.	
	
2.	
		

	
	
	
	
	
	
The	graph	of	a	one-to-one	functions	f	is	given.		Draw	the	graph	of	the	inverse	function	f-1	as	a	dashed	
line	or	curve.	
3.
				

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	



2) f(x)ȱ=ȱ xȱ+ȱ2

x-10 -5 5 10

y
10

5

-5

-10

x-10 -5 5 10

y
10

5

-5

-10

A)

x-10 -5 5 10

y
10

5

-5

-10

x-10 -5 5 10

y
10

5

-5

-10

B)

x-10 -5 5 10

y
10

5

-5

-10

x-10 -5 5 10

y
10

5

-5

-10

3) f(x)ȱ=ȱx3ȱ+ȱ5

x-10 -5 5 10

y
10

5

-5

-10

x-10 -5 5 10

y
10

5

-5

-10

A)

x-10 -5 5 10

y
10

5

-5

-10

x-10 -5 5 10

y
10

5

-5

-10

B)

x-10 -5 5 10

y
10

5

-5

-10

x-10 -5 5 10

y
10

5

-5

-10
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A)

x-5 -4 -3 -2 -1 1 2 3 4 5

y5

4

3

2

1

-1

-2

-3

-4

-5

(4, -2)

(2, 1)
(0, 2)

(-1, 4)

x-5 -4 -3 -2 -1 1 2 3 4 5

y5

4

3

2

1

-1

-2

-3

-4

-5

(4, -2)

(2, 1)
(0, 2)

(-1, 4)

B)

x-5 -4 -3 -2 -1 1 2 3 4 5

y5

4

3

2

1

-1

-2

-3

-4

-5

(-4, 2)

(-2, -1)
(0, -2)

(1, -4)

x-5 -4 -3 -2 -1 1 2 3 4 5

y5

4

3

2

1

-1

-2

-3

-4

-5

(-4, 2)

(-2, -1)
(0, -2)

(1, -4)

C)

x-5 -4 -3 -2 -1 1 2 3 4 5

y5

4

3

2

1

-1

-2

-3

-4

-5
(-2, -4)

(1, -2)

(2, 0)

(4, 1)

x-5 -4 -3 -2 -1 1 2 3 4 5

y5

4

3

2

1

-1

-2

-3

-4

-5
(-2, -4)

(1, -2)

(2, 0)

(4, 1)

D)

x-5 -4 -3 -2 -1 1 2 3 4 5

y5

4

3

2

1

-1

-2

-3

-4

-5

(4, 2)

(2, -1)

(0, -2)

(-1, -4)

x-5 -4 -3 -2 -1 1 2 3 4 5

y5

4

3

2

1

-1

-2

-3

-4

-5

(4, 2)

(2, -1)

(0, -2)

(-1, -4)

4 FindȱtheȱInverseȱofȱaȱFunctionȱDefinedȱbyȱanȱEquation

MULTIPLEȱCHOICE.ȱȱChooseȱtheȱoneȱalternativeȱthatȱbestȱcompletesȱtheȱstatementȱorȱanswersȱtheȱquestion.

Decideȱwhetherȱorȱnotȱtheȱfunctionsȱareȱinversesȱofȱeachȱother.

1) f(x)ȱ=ȱ3xȱ-ȱ4,ȱȱg(x)ȱ=ȱxȱ+ȱ3
4

A) No B) Yes

2) f(x)ȱ=ȱ5xȱ+ȱ25,ȱȱg(x)ȱ=ȱ1
5
xȱ-ȱ5

A) Yes B) No

3) f(x)ȱ=ȱ6xȱ-ȱ6,ȱȱg(x)ȱ=ȱ1
6
xȱ+ȱ1

A) No B) Yes

4) f(x)ȱ=ȱ5x2ȱ+ȱ2,ȱȱg(x)ȱ=ȱ xȱ-ȱ2
5

A) No B) Yes;ȱNoȱvaluesȱneedȱtoȱbeȱexcluded.
C) Yes;ȱExcludeȱtheȱintervalȱ(-Q,ȱ5) D) Yes;ȱExcludeȱtheȱintervalȱ(-Q,ȱ2)
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5) f(x)ȱ=ȱ(xȱ-ȱ5)2,ȱxȱLȱ5;ȱȱg(x)ȱ=ȱ xȱ+ȱ5
A) Yes B) No

6) f(x)ȱ=ȱ(xȱ-ȱ5)2,ȱxȱLȱ5;ȱȱȱg(x)ȱ=ȱ xȱ+ȱ5
A) No B) Yes

7) f(x)ȱ=ȱ 1
xȱ+ȱ7

,ȱȱg(x)ȱ=ȱ7xȱ+ 1
x

A) Yes;ȱExcludeȱtheȱvalueȱȱ{-7} B) No C) Yes

8) f(x)ȱ=ȱ8ȱ+ȱx
x

,ȱȱg(x)ȱ=ȱ 8
xȱ-ȱ1

A) No B) Yes

9) f(x)ȱ=ȱ xȱ+ȱ4,ȱdomainȱ[-4,ȱQ);ȱȱg(x)ȱ=ȱx2ȱ+ȱ4,ȱdomainȱ(-Q,ȱQ)
A) No B) Yes

10) f(x)ȱ=ȱx3ȱ-ȱ6,ȱȱg(x)ȱ=ȱ
3
xȱ+ȱ6

A) No B) Yes

Theȱfunctionȱfȱisȱone-to-one.ȱFindȱitsȱinverse.
11) f(x)ȱ=ȱ2x

A) f-1(x)ȱ=ȱ2
x

B) ȱf-1(x)ȱ=ȱ-2x C) f-1(x)ȱ=ȱx
2

D) f-1(x)ȱ=ȱ2x

12) f(x)ȱ=ȱ3xȱ+ȱ7

A) f(x)ȱ=ȱxȱ-ȱ7
3

B) f-1(x)ȱ=ȱxȱ- 7
3

C) f-1(x)ȱ=ȱxȱ+ 7
3

D) f-1(x)ȱ=ȱ-ȱxȱ+ 3
7

13) f(x)ȱ=ȱ8xȱ+ȱ7

A) f-1(x)ȱ=ȱxȱ-ȱ7
8

B) f-1(x)ȱ=ȱx
8
ȱ-ȱ7 C) f-1(x)ȱ=ȱx

8
ȱ+ȱ7 D) f-1(x)ȱ=ȱxȱ+ 7

8

14) f(x)ȱ=ȱ2
x

A) f-1(x)ȱ=ȱ2
x

B) f-1(x)ȱ=ȱ-2x C) f-1(x)ȱ=ȱx
2

D) f-1(x)ȱ=ȱȱȱ2x

15) f(x)ȱ=ȱx2ȱ-ȱ1,ȱxȱLȱ0
A) ȱf-1(x)ȱ=ȱ xȱ+ȱ1,ȱxȱLȱ0 B) f-1(x)ȱ=ȱ xȱ+ȱ1,ȱxȱLȱ-1
C) f-1(x)ȱ=ȱ xȱ-ȱ1,ȱxȱLȱ1 D) ȱf-1(x)ȱ=ȱ xȱ+ȱ1,ȱxȱ<ȱ0

16) f(x)ȱ=ȱ3x2ȱ-ȱ6,ȱxȱLȱ0

A) f-1(x)ȱ=ȱ 3
xȱ+ȱ6

B) f-1(x)ȱ=ȱ xȱ+ȱ6
3

C) f-1(x)ȱ=ȱ 3
xȱ+ȱ6

D) f-1(x)ȱ=ȱ-ȱ xȱ+ȱ6
3

17) f(x)ȱ=ȱx3ȱ+ȱ5

A) f-1(x)ȱ=ȱ
3
xȱ+ȱ5 B) f-1(x)ȱ=ȱ

3
xȱ-ȱ5 C) f-1(x)ȱ=ȱ

3
xȱ+ȱ5 D) f-1(x)ȱ=ȱ

3
xȱ-ȱ5
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5) f(x)ȱ=ȱ(xȱ-ȱ5)2,ȱxȱLȱ5;ȱȱg(x)ȱ=ȱ xȱ+ȱ5
A) Yes B) No

6) f(x)ȱ=ȱ(xȱ-ȱ5)2,ȱxȱLȱ5;ȱȱȱg(x)ȱ=ȱ xȱ+ȱ5
A) No B) Yes

7) f(x)ȱ=ȱ 1
xȱ+ȱ7

,ȱȱg(x)ȱ=ȱ7xȱ+ 1
x

A) Yes;ȱExcludeȱtheȱvalueȱȱ{-7} B) No C) Yes

8) f(x)ȱ=ȱ8ȱ+ȱx
x

,ȱȱg(x)ȱ=ȱ 8
xȱ-ȱ1

A) No B) Yes

9) f(x)ȱ=ȱ xȱ+ȱ4,ȱdomainȱ[-4,ȱQ);ȱȱg(x)ȱ=ȱx2ȱ+ȱ4,ȱdomainȱ(-Q,ȱQ)
A) No B) Yes

10) f(x)ȱ=ȱx3ȱ-ȱ6,ȱȱg(x)ȱ=ȱ
3
xȱ+ȱ6

A) No B) Yes

Theȱfunctionȱfȱisȱone-to-one.ȱFindȱitsȱinverse.
11) f(x)ȱ=ȱ2x

A) f-1(x)ȱ=ȱ2
x

B) ȱf-1(x)ȱ=ȱ-2x C) f-1(x)ȱ=ȱx
2

D) f-1(x)ȱ=ȱ2x

12) f(x)ȱ=ȱ3xȱ+ȱ7

A) f(x)ȱ=ȱxȱ-ȱ7
3

B) f-1(x)ȱ=ȱxȱ- 7
3

C) f-1(x)ȱ=ȱxȱ+ 7
3

D) f-1(x)ȱ=ȱ-ȱxȱ+ 3
7

13) f(x)ȱ=ȱ8xȱ+ȱ7

A) f-1(x)ȱ=ȱxȱ-ȱ7
8

B) f-1(x)ȱ=ȱx
8
ȱ-ȱ7 C) f-1(x)ȱ=ȱx

8
ȱ+ȱ7 D) f-1(x)ȱ=ȱxȱ+ 7

8

14) f(x)ȱ=ȱ2
x

A) f-1(x)ȱ=ȱ2
x

B) f-1(x)ȱ=ȱ-2x C) f-1(x)ȱ=ȱx
2

D) f-1(x)ȱ=ȱȱȱ2x

15) f(x)ȱ=ȱx2ȱ-ȱ1,ȱxȱLȱ0
A) ȱf-1(x)ȱ=ȱ xȱ+ȱ1,ȱxȱLȱ0 B) f-1(x)ȱ=ȱ xȱ+ȱ1,ȱxȱLȱ-1
C) f-1(x)ȱ=ȱ xȱ-ȱ1,ȱxȱLȱ1 D) ȱf-1(x)ȱ=ȱ xȱ+ȱ1,ȱxȱ<ȱ0

16) f(x)ȱ=ȱ3x2ȱ-ȱ6,ȱxȱLȱ0

A) f-1(x)ȱ=ȱ 3
xȱ+ȱ6

B) f-1(x)ȱ=ȱ xȱ+ȱ6
3

C) f-1(x)ȱ=ȱ 3
xȱ+ȱ6

D) f-1(x)ȱ=ȱ-ȱ xȱ+ȱ6
3

17) f(x)ȱ=ȱx3ȱ+ȱ5

A) f-1(x)ȱ=ȱ
3
xȱ+ȱ5 B) f-1(x)ȱ=ȱ

3
xȱ-ȱ5 C) f-1(x)ȱ=ȱ

3
xȱ+ȱ5 D) f-1(x)ȱ=ȱ

3
xȱ-ȱ5
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4.			
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
Decide	whether	or	not	the	functions	are	inverses	of	each	other.	
	
5.			
	
	
	
	
	
	
6.			
	
	
	
	
	
	
The	function	is	one-to-one.		Find	its	inverse.	
	
7.		
	
	
	



18) f(x)ȱ=ȱ4xȱ-ȱ3
7

A) f-1(x)ȱȱ=ȱ7xȱ-ȱ3
4

B) f-1(x)ȱȱ=ȱ 7
4xȱ-ȱ3

C) f-1(x)ȱȱ=ȱ7xȱ+ 3
4

D) f-1(x)ȱȱ=ȱ 7
4xȱ+ȱ3

19) f(x)ȱ=ȱ 4
5xȱ+ȱ3

A) f-1(x)ȱ=ȱ5xȱ+ȱ3
4

B) f-1(x)ȱ=ȱ4 - 3y
5y

C) f-1(x)ȱ=ȱ3xȱ- 4
5x

D) f-1(x)ȱ=ȱ4 - 3x
5x

20) f(x)ȱ=ȱ 3
xȱ-ȱ5

A) f-1(x)ȱ=ȱ-5ȱ+ȱ3x
x

B) f-1(x)ȱ=ȱ5xȱ+ 3
x

C) f-1(x)ȱ=ȱ-5ȱ+ȱ3x
2

x
D) f-1(x)ȱ=ȱ x

-5ȱ+ȱ3x

21) f(x)ȱ=ȱ(xȱ+ȱ8)3

A) f-1(x)ȱ=ȱ
3
xȱ-ȱ512 B) f-1(x)ȱ=ȱ

3
xȱ-ȱ8 C) f-1(x)ȱ=ȱ

3
xȱ+ȱ8 D) f-1(x)ȱ=ȱ xȱ-ȱ8

22) f(x)ȱ=ȱ(xȱ+ȱ2)3ȱ-ȱ8.

A) f-1(x)ȱ=ȱ
3
xȱ-ȱ2ȱ+ȱ8 B) f-1(x)ȱ=ȱ

3
xȱ+ȱ8ȱ-ȱ2 C) f-1(x)ȱ=ȱ

3
xȱ+ȱ10 D) f-1(x)ȱ=ȱ

3
xȱ+ȱ6

23) f(x)ȱ=ȱ xȱ-ȱ5
A) f-1(x)ȱ=ȱx2ȱ+ȱ5,ȱxȱLȱ0 B) f-1(x)ȱ=ȱ xȱ+ȱ5

C) f-1(x)ȱ=ȱx2ȱ-ȱ5,ȱȱxȱLȱ0 D) f-1(x)ȱ=ȱ(xȱ-ȱ5)2

24) f(x)ȱ=
3
xȱ+ȱ3

A) f-1(x)ȱ=ȱx3ȱ+ȱ9 B) f-1(x)ȱ=ȱxȱ-ȱ3 C) f-1(x)ȱ=ȱ 1
x3ȱ-ȱ3

D) f-1(x)ȱ=ȱx3ȱ-ȱ3

25) f(x)ȱ=ȱ 3xȱ+ȱ7
-7xȱ-ȱ5

A) f-1(x)ȱ=ȱ-7xȱ-ȱ3
5xȱ+ȱ7

B) f-1(x)ȱ=ȱ 3xȱ+ 7
-7xȱ-ȱ5

C) f-1(x)ȱ=ȱ 5xȱ+ 7
-7xȱ-ȱ3

D) f-1(x)ȱ=ȱ 3xȱ+ 3
-7xȱ-ȱ5

Findȱtheȱinverseȱfunctionȱofȱf.ȱȱStateȱtheȱdomainȱandȱrangeȱofȱf.

26) f(x)ȱ=ȱ3xȱ-ȱ2
xȱ+ȱ5

A) f-1(x)ȱ=ȱ xȱ+ȱ5
3xȱ-ȱ2

;ȱdomainȱofȱf:ȱ{x ȱxȱJȱ-5};ȱrangeȱofȱf:ȱ{y ȱyȱJȱ2
3
}

B) f-1(x)ȱ=ȱ3xȱ+ȱ2
xȱ-ȱ5

;ȱdomainȱofȱf:ȱ{x ȱxȱJȱ-5};ȱrangeȱofȱf:ȱ{y ȱyȱJȱ5}

C) f-1(x)ȱ=ȱ5xȱ+ȱ2
3ȱ+ȱx

;ȱdomainȱofȱf:ȱ{x ȱxȱJȱ-5};ȱrangeȱofȱf:ȱ{y ȱyȱJȱ-ȱ3}

D) f-1(x)ȱ=ȱ5xȱ+ȱ2
3ȱ-ȱx

;ȱdomainȱofȱf:ȱ{x ȱxȱJȱ-5};ȱrangeȱofȱf:ȱ{y ȱyȱJȱ3}
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18) f(x)ȱ=ȱ4xȱ-ȱ3
7

A) f-1(x)ȱȱ=ȱ7xȱ-ȱ3
4

B) f-1(x)ȱȱ=ȱ 7
4xȱ-ȱ3

C) f-1(x)ȱȱ=ȱ7xȱ+ 3
4

D) f-1(x)ȱȱ=ȱ 7
4xȱ+ȱ3

19) f(x)ȱ=ȱ 4
5xȱ+ȱ3

A) f-1(x)ȱ=ȱ5xȱ+ȱ3
4

B) f-1(x)ȱ=ȱ4 - 3y
5y

C) f-1(x)ȱ=ȱ3xȱ- 4
5x

D) f-1(x)ȱ=ȱ4 - 3x
5x

20) f(x)ȱ=ȱ 3
xȱ-ȱ5

A) f-1(x)ȱ=ȱ-5ȱ+ȱ3x
x

B) f-1(x)ȱ=ȱ5xȱ+ 3
x

C) f-1(x)ȱ=ȱ-5ȱ+ȱ3x
2

x
D) f-1(x)ȱ=ȱ x

-5ȱ+ȱ3x

21) f(x)ȱ=ȱ(xȱ+ȱ8)3

A) f-1(x)ȱ=ȱ
3
xȱ-ȱ512 B) f-1(x)ȱ=ȱ

3
xȱ-ȱ8 C) f-1(x)ȱ=ȱ

3
xȱ+ȱ8 D) f-1(x)ȱ=ȱ xȱ-ȱ8

22) f(x)ȱ=ȱ(xȱ+ȱ2)3ȱ-ȱ8.

A) f-1(x)ȱ=ȱ
3
xȱ-ȱ2ȱ+ȱ8 B) f-1(x)ȱ=ȱ

3
xȱ+ȱ8ȱ-ȱ2 C) f-1(x)ȱ=ȱ

3
xȱ+ȱ10 D) f-1(x)ȱ=ȱ

3
xȱ+ȱ6

23) f(x)ȱ=ȱ xȱ-ȱ5
A) f-1(x)ȱ=ȱx2ȱ+ȱ5,ȱxȱLȱ0 B) f-1(x)ȱ=ȱ xȱ+ȱ5

C) f-1(x)ȱ=ȱx2ȱ-ȱ5,ȱȱxȱLȱ0 D) f-1(x)ȱ=ȱ(xȱ-ȱ5)2

24) f(x)ȱ=
3
xȱ+ȱ3

A) f-1(x)ȱ=ȱx3ȱ+ȱ9 B) f-1(x)ȱ=ȱxȱ-ȱ3 C) f-1(x)ȱ=ȱ 1
x3ȱ-ȱ3

D) f-1(x)ȱ=ȱx3ȱ-ȱ3

25) f(x)ȱ=ȱ 3xȱ+ȱ7
-7xȱ-ȱ5

A) f-1(x)ȱ=ȱ-7xȱ-ȱ3
5xȱ+ȱ7

B) f-1(x)ȱ=ȱ 3xȱ+ 7
-7xȱ-ȱ5

C) f-1(x)ȱ=ȱ 5xȱ+ 7
-7xȱ-ȱ3

D) f-1(x)ȱ=ȱ 3xȱ+ 3
-7xȱ-ȱ5

Findȱtheȱinverseȱfunctionȱofȱf.ȱȱStateȱtheȱdomainȱandȱrangeȱofȱf.

26) f(x)ȱ=ȱ3xȱ-ȱ2
xȱ+ȱ5

A) f-1(x)ȱ=ȱ xȱ+ȱ5
3xȱ-ȱ2

;ȱdomainȱofȱf:ȱ{x ȱxȱJȱ-5};ȱrangeȱofȱf:ȱ{y ȱyȱJȱ2
3
}

B) f-1(x)ȱ=ȱ3xȱ+ȱ2
xȱ-ȱ5

;ȱdomainȱofȱf:ȱ{x ȱxȱJȱ-5};ȱrangeȱofȱf:ȱ{y ȱyȱJȱ5}

C) f-1(x)ȱ=ȱ5xȱ+ȱ2
3ȱ+ȱx

;ȱdomainȱofȱf:ȱ{x ȱxȱJȱ-5};ȱrangeȱofȱf:ȱ{y ȱyȱJȱ-ȱ3}

D) f-1(x)ȱ=ȱ5xȱ+ȱ2
3ȱ-ȱx

;ȱdomainȱofȱf:ȱ{x ȱxȱJȱ-5};ȱrangeȱofȱf:ȱ{y ȱyȱJȱ3}
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30) f(x)ȱ=ȱ 5xȱ+ȱ6

A) f(x):ȱDȱ=ȱ xȱ xȱLȱ-ȱ6
5

,ȱRȱ=ȱ yȱ yȱLȱ0 ;

f-1(x):ȱDȱ=ȱ xȱ xȱLȱ0 ,ȱRȱ=ȱ yȱ yȱLȱ-ȱ6
5

B) ȱȱf(x):ȱDȱ=ȱ xȱ xȱLȱ-ȱ6
5

,ȱRȱ=ȱ yȱ yȱLȱ0 ;

f-1(x):ȱDȱisȱallȱrealȱnumbers,ȱRȱ=ȱ yȱ yȱLȱ-ȱ6
5

C) ȱȱf(x):ȱDȱ=ȱ xȱ xȱLȱ-ȱ6
5

,ȱRȱisȱallȱrealȱnumbers;

f-1(x):ȱDȱisȱallȱrealȱnumbers,ȱRȱ=ȱ yȱ yȱLȱ-ȱ6
5

D) ȱf(x):ȱDȱ= xȱ xȱL 0 ,ȱRȱ=ȱ yȱ yȱL 0 ;

f-1(x):ȱDȱ=ȱ xȱ xȱLȱ0 ,ȱRȱ=ȱ yȱ yȱLȱ-ȱ6
5

31) f(x)ȱ=ȱ 1ȱ-ȱ4x

A) ȱȱf(x):ȱDȱ=ȱ xȱ xȱLȱ0 ,ȱRȱ=ȱ yȱ yȱLȱ0 ;

f-1(x):ȱDȱ=ȱ xȱ xȱLȱ0 ,ȱRȱ=ȱ yȱ yȱLȱ1
4

B) ȱȱf(x):ȱDȱ=ȱ xȱ xȱKȱ1
4

,ȱRȱ=ȱ yȱ yȱLȱ0 ;

f-1(x):ȱDȱ=ȱ xȱ xȱLȱ0 ,ȱRȱ=ȱ yȱ yȱKȱ1
4

C) ȱȱf(x):ȱDȱ=ȱ xȱ xȱKȱ1
4

,ȱRȱ=ȱ yȱ yȱKȱ0 ;

f-1(x):ȱDȱisȱallȱrealȱnumbers,ȱRȱ=ȱ yȱ yȱKȱ1
4

D) ȱȱf(x):ȱDȱ=ȱ xȱ xȱKȱ1
4

,ȱRȱisȱallȱrealȱnumbers;

f-1(x):ȱDȱisȱallȱrealȱnumbers,ȱRȱ=ȱ yȱ yȱKȱ1
4

SHORTȱANSWER.ȱȱWriteȱtheȱwordȱorȱphraseȱthatȱbestȱcompletesȱeachȱstatementȱorȱanswersȱtheȱquestion.

Solveȱtheȱproblem.
32) TheȱprofitȱPȱforȱsellingȱxȱitemsȱisȱgivenȱbyȱtheȱequationȱP(x)ȱ= 2xȱ- 500.ȱExpressȱtheȱsalesȱamountȱxȱasȱaȱfunction

ofȱtheȱprofitȱP.

33) Theȱfunctionȱf(x)ȱ=ȱ|x|- 5ȱisȱnotȱone-to-one.
(a)ȱFindȱaȱsuitableȱrestrictionȱonȱtheȱdomainȱofȱfȱsoȱthatȱtheȱnewȱfunctionȱthatȱresultsȱisȱone-to-one.
(b)ȱFindȱtheȱinverseȱofȱf.

34) TheȱweightȱWȱȱofȱaȱbirdȇsȱbrainȱ(inȱounces)ȱisȱrelatedȱtoȱtheȱvolumeȱVȱofȱtheȱbirdȇsȱskullȱ(inȱcubicȱounces)

throughȱtheȱfunctionȱW(V)ȱ=ȱ3.5
3
Vȱ+ȱ1.11.

(a) ExpressȱtheȱskullȱvolumeȱVȱasȱaȱfunctionȱofȱbrainȱweightȱW.
(b) Predictȱtheȱskullȱvolumeȱofȱaȱbirdȱwhoseȱbrainȱweighsȱ3ȱoz.

MULTIPLEȱCHOICE.ȱȱChooseȱtheȱoneȱalternativeȱthatȱbestȱcompletesȱtheȱstatementȱorȱanswersȱtheȱquestion.

35) Theȱaccompanyingȱtablesȱrepresentȱaȱfunctionȱfȱthatȱconvertsȱsecondsȱtoȱhoursȱandȱaȱfunctionȱgȱthatȱconverts
hoursȱtoȱdays.

x ȱ86,400 ȱ172,800 ȱ259,200 ȱ345,600 ȱ432,000
f(x) 24 48 72 96 120

x ȱ24 ȱ48 ȱ72 ȱ96 ȱ120
g(x) ȱ1 2 3 4 5

Expressȱ(fȱ-1Hgȱ-1)(x)ȱȱsymbolically.

A) (fȱ-1Hgȱ-1)(x)ȱ=ȱ x
86,400

B) (fȱ-1Hgȱ-1)(x)ȱ=ȱ x2

86,400

C) (fȱ-1Hgȱ-1)(x)ȱ=ȱ86,400x D) (f -1Hg -1)(x)ȱ=ȱ86,400x2
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8.				
	
	
	
	
	
	
	
Find	the	inverse	function	of	f.		State	the	domain	and	range	of	f.	
	
9.			
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
Determine	i)	the	domain	of	the	function,	ii)	the	range	of	the	functions,	iii)the	domain	of	the	inverse,	
and	iv)	the	range	of	the	inverse.	
	
10.			
	
	
	
	
	
	
	
	
	
	
	
	
	
	 	


